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Combined Graduate Level Examination 2020 Tier-I

[Roll Number

Candidate Name

Venue Name iON Digital Zone iDZ 2 Sector 62

Exam Date 24/08/2021

Exam Time 9:00 AM - 10:00 AM

Subject [combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 dg frerey g SiH Ead ues ¥R € St avg & Hdfda & 99 i3 (g g d@e 6 J=d g
TR @ wefda &1

(12,14, 143)
Ans X 1.(17,12,134)
< 2. (12,18, 246)
2 3. (16,10, 235)
o 4.(15,19,252)

Question ID : 81616114237
Status : Answered
Chosen Option : 4

Q.2 UTe # Qeh Tt it 3R Heha @ed gQ 2fiug A g, "ag AR far R Af Y seheledt ot 38 Hr &
8

at garq foh 39 a=ht i a7 o1 sfiug @ Far d@aa g?
Ans X 1. o7cisft

2< 2. areft

X 3. phdaT

o 4.3

QuestionID : 81616113019
Status : Answered
Chosen Option : 4
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Q.3 maﬁmﬁmxwﬁﬁmmwaﬁrm@?mﬁmwmaﬁm
AT E| TH RS FH HES W A FAT BRI
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Ans
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Question ID : 81616113033
Status : Answered
Chosen Option : 2

Q4 R aw 3@ A, god THE S F FERE war g, e wemtiar ar Bl ¢ e
AT F RS FAT § I AATEE e B AT 3TF g G 0 92T 7 5o &

13

o
-
-

3 AT sFEIET S GEdr haer §, S T A §7
Ans KT
2 8
X315
x4 11

|

Question ID : 81616112529
Status : Answered
Chosen Option: 2
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Q5 37 gaAt T T Y By A 7 ofie F A=Al W ASH FAT AT GohaT

F
NEEE

[L
DD DT

A X1 Faa A B 3R C
72 %I A 3R B
X3 g A, B3k D
X4 Faa B 3k C

Question ID : 81616114242
Status : Answered
Chosen Option : 2

Q.6 31aRi & 3§ Hale ol g Sit & 7T 2wt A R =l R shfae &0 & 7@ 91 R f@en A ga
M|

r_vgl_mv_Irm_q_rm_gl
Ans X 1.q,rvlv,m
o 2mrqvlv
K 3.,mqrnvv
K 4vvqrlm

QuestionID: 81616113018
Status : Answered
Chosen Option : 2

Q.7 Ry Rt d & ag den g4 @l FEfai@a e 7 usilRg (?7) & == w® sngfi?
3,20, 38,52,75,82,114,?

Ans X 1.118
< 2.101

& 3.110
X 4.104

Question ID : 81616113021
Status : Answered
Chosen Option: 3
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Q.8 R 9 dem-gm Ry g § o @ fiw et desf & gas wum & ok 379 @ ua ardia 21 99
ST HET-TH ohl T e
Ans o 1.27:82
X 2.22:127
X 3.16:91

2 4.28:163

Question ID : 81616114235
Status : Not Answered
Chosen Option : --

Q.9 fF=fafaa wfiaror # dgferd wA & fog fF 3t gl &1« wReR a5 fear s afge?
156 - 13 +9x18+ 5= 169
Ans X 1.x3fR-
< 2. x 3R+
o 3.+ 38R -
X 4+ 3R+

Question ID : 81616114238
Status : Answered
Chosen Option: 3

Q.10 Ry g fRereal # 9 ag aof-wgg g+ st Fafaf@a e # uslRg (?) & == o= smgm?
MEND, PHJZ, SKFV, VNBR, ?
Ans X 1.YQZM
& 2. YIYN
« 3. YQXN
& 4.YRXO

Question ID : 81616113010
Status : Answered
Chosen Option : 3

Q.11 fonedt fafre pevmon &, ‘MINT’ it ‘224" 3R ‘FANCY’ &t ‘245’ & =4 # geag fohar mar g, at s+t
|71 & ‘CONTOUR’ <Rl &h&t Frearg forar simgem?

Ans X 1.259
X 2.301
o 3.742
X 4.597

Question ID : 81616114229
Status : Answered
Chosen Option: 3
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Q.12 = R guf-wg Ry g & Sd @ i freht d@eof & g a9 & ofik 39 9 ue erTa g1 39
ST guf-TRJg T T AR

Ans X 1.TFKG
X 2.JNCQ
7< 3.RDMI
o 4. FHWU

Question ID : 81616113012
Status : Not Answered
Chosen Option : --

Q.13 ag fereu g4 S Ty gah geR @ St avg 9 |@&6fda 7 & 519 3 Ry g de fi dend
Toh g & Hafda &1

(64,91, 118)
Ans X 1.(55,82,109)
& 2.(46,73,101)
7< 3.(72,99, 126)
< 4.(48,75,102)

QuestionID : 81616112519
Status : Not Answered
Chosen Option : --

Q.14 fonet fAfAe gevTar & 'COW' @t 'ZRF & w9 # 3k ‘DOG’ &l 'JRG’ & =4 & foia@r wimar &1 &t 3t
AT # ‘RAT’ <Rt & forar sirgem?

Ans X 1.XDV
X 2. VEU
X 3.UDW
& 4.WDU

Question ID : 81616112511
Status : Answered
Chosen Option : 4

Q.15 Four words have been given, out of which three are alike in some manner and one is
different. Select the word that is different.

Ans  # 1. Ecology
25 2. Ophthalmology

25 3. Myology
< 4. Dermatology

Question ID : 81616114225
Status : Answered
Chosen Option : 1
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Q.16 Akshar and Manvita recently celebrated their silver wedding anniversary and their older son
Sanju’s birthday. If the age of Sanju 18 years after his parent’s marriage, and his age at their
golden anniversary is in the ratio 5 : 21, how many years after their marriage was Sanju
born?

Ans o 1.8 years
5 2. 12 years
< 3. 15years
25 4.10 years

Question ID : 81616113027
Status : Answered
Chosen Option : 1

7 gk s Pt Pger #2

Ans 1. 11
X210
X312
X413

Question ID : 81616114241
Status : Answered
Chosen Option : 1
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Q18 77 e gl I T & 7 wply wieafea & el #1 gaer 7 31

8

Ans

Question ID : 81616113031

Status : Answered

Chosen Option : 3

Q.19 g et fasea g+ w1t Ry 7Y 2real ot 39 37 & garfar & 5w ova A 3 sl ersgarier A ormd &1

1. Topology
2. Topper

3. Tolerance
4. Together
5. Tomorrow

Ans X 1.4,53,1,2
o 2.4,3,51,2
X 3.4,2,1,53
X 4.4,2,31,5

Question ID : 81616113011

Status : Answered

Chosen Option: 1
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Q20 faw orv Rwedt & ¥ 97 T gH A eliEE gEen § veafes (7) F T W HwEn

E AJA Ufo I 0
u 1 o} E 2
1 0lo EIE AlA 18]
Ans
o E
<1 I
J A
o] E
W 2 A
L7 |
E A
< 3. U
1 8]
A E
5 4. u
1 8]

Question ID : 81616113028
Status : Answered
Chosen Option : 2

Q.21 Select the option in which the words share the same relationship as that shared by the given
pair of words.

Tintometer : Colour
Ans X 1.Viscometer : Wind

#< 2. Spirometer : Speed
#< 3. Planimeter : Pressure

«" 4. Protractor: Angles

Question ID: 81616113015
Status : Answered
Chosen Option : 4
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Q.22 Tg e g Sit fieR 2ree & I UhR Hafda &, e o gERT 2res uge 2res & Hafda g1

Question ID : 81616113014
Status : Answered
Chosen Option: 3

Q.23 ag faerea g it ot T 9 I uwR GEfda 8, 9 uaR ot T uge! e @ eEfda
gl

23:531::27:?
Ans X 1.656
X 2.573
% 3.802
o 4.731

Question ID : 81616112517
Status : Answered
Chosen Option : 4

Q.24 ofy gdor #1 &9 F FGER PQ W T@ T §, G R v @wes @ e gdur giafee swfam St

P
COGNITIVEl
Q

Ans 21 AVITINDOD
X2 COURILIAE
X3 3IVITIDNOD

X4 COCUILIAE

Question ID : 81616113032
Status : Answered
Chosen Option: 1
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Q.25 Qg AT ok frewl i ea= @ ug | st & &) 18 ST o6 9 Aa ge, Y S a8
I U @ 719 a4 @ g v g, RufRa &R & = @ A Ry 1g wu=i &6 arfdhe &g

@ IFERUT A &

HY:
Toft ORI, SRR
o MR, UfRe &1

fArsent:
1. T IR, ¥R &1
II. aft 4R, amd=R &1

Ans X 1.7a e | 7 €11 SraRoT vt &
o 2. thael FeehT | 3EROT e &
2 3. Fhaet sy || STER0T el &
2 4. fwep | 3fR 1| ST SIeRUT d §

Question ID : 81616112515
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 Through which of the following actions does the lithosphere move over the asthenosphere?
Ans X 1.Deposition

#< 2. Continental drift
< 3. Weathering

" 4. Plate tectonics

Question ID : 81616113045
Status : Answered
Chosen Option : 2

—_—

Q.2 TH ugrf & Sfupsii & ofta & SRYUT ST Rt hgT STET 8l
Ans X 1.9SdAE

o 2. GISTeh af

25 3. gmar

X 4. ISR S

Question ID : 81616113040
Status : Answered
Chosen Option : 2

Q.3 ‘geetrer (Thullal) ______ 3r5a Y Qeh Yehel - T et 81
Ans o 1.

X 2. gRamm

X 3. SruTTad U

X 4w

Question ID : 81616112530
Status : Not Answered
Chosen Option : --
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Q.4 fFa geam A FfY it T@wre & g g st fumT (Sae-g- ok wigh) 6 v &2
Ans X 1.fag@Er

X 2. guRer &

X 3. STATd-35-¢14 faetsty

o 4. TgTE o gireteh

Question ID : 81616112545
Status : Answered
Chosen Option : 4

Q.5 FEm Ul Achs _____ HRER a8
Ans X 1.3

o 2. TR

X 3.5

X 4. a9

Question ID : 81616114253
Status : Answered
Chosen Option : 2

=

Q.6 =1 d @ wie-ur oy R 2020 # seleha=-Her TR Sl & 3= et aret e 354 a7
™r?

Ans o 1. ITRUSY
X 2. wfeh
X 3. g ey
X 4. Rferm

Question ID : 81616113057
Status : Not Answered
Chosen Option : --

, Gk RTTelg ymoft § St geaft ur s g Y fRrneasn dwaemsi @ Rafor o= & g
STl S UTeyl & 91y A Haui iR AR @1

Ans X 1.geft
X 2. Ot
 3.ya

X 4 a9y

Q.7

Question ID : 81616113043
Status : Answered
Chosen Option : 3
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Q8 T&H , STt Y A viTepferen of-STeftar 3ohTé @, it waTg-voTett g1 Iwafas fiig & sty o

Ans

% 3hgT Qd vaTfed et g1

o 1. AT (qTeAs)
KX 2. ST
2 3. aRTEY
25 4. ST

Question ID : 81616113046
Status : Answered
Chosen Option : 4

Q.9 A= d @ FF-91 ®IF, 77 7 & dT R R TE @2

Ans

X 1. BIBRES
o 2. ESIRET
< 3. aRmoTd

K 4 BHAR

Question ID : 81616114256
Status : Answered
Chosen Option : 2

Q.10 TR 2020 e UTe STHGRR & AR, TG=h AL Fi enfdeiRe wemed i v gl

Ans

X 1.7
X 2.1
3.6
% 4.10

Question ID : 81616114265
Status : Answered
Chosen Option : 3

Q.11 A= & & fFaa 712 S&it d Ra wR smerwor forar ur?

Ans

o 1. Ig7E SA-amiim
X 2. g IR
X 3. Hge-35-4H Baeh
< 4. Agg o

Question ID : 81616113049
Status : Answered
Chosen Option: 1
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Q.12 is an economic scenario where a peculiar combination of low growth and rising
inflation leads to high unemployment.

Ans X 1. Depreciation
< 2. Deflation
" 3. Stagflation
< 4. Recession

Question ID : 81616113037
Status : Answered
Chosen Option : 4

Q.13 TieR ggwe A reTedY # SFATH o Y TATIAT A
Ans X 1.3madl

X 2. At
o 3. aradi
X 4.5

Question ID : 81616114260
Status : Answered
Chosen Option : 4

Q.14 32 IR (Great Bear) gl STAATAT ARTHE foha aehlet aRT @ 9471 82
Ans ¥ 1.91d

Xo2.d=

X 3.

X 4. dfg

Question ID : 81616112534
Status : Answered
Chosen Option : 1

_—
Q.15 AT 2021 # Ry snffes =1 ZRT Hepfora gan afYes Aare (YOL) i gt A A1 & & -+t
W sl anfae 82

Ans X 1. e
X 2. snfor org
X 3. Ui
o 4. Qe aigaior

Question ID : 81616113051
Status : Answered
Chosen Option: 1
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Q.16 =1 & @ S WRela S=EY & AT Gl | @ Ueh 82
Ans X 1. AarE

X 2. hg g2t

& 3. ST TG it

X 4. 9eiea &g

Question ID : 81616113054
Status : Answered
Chosen Option: 3

Q.17 uuH 3itcifdes el a1 smater A 7 @ fr o1 F fwam mam ar?
Ans X 1.gATEcs fhisH

X 2@

X 3.

o 4.1

Question ID : 81616113055
Status : Answered
Chosen Option : 4

S

Q.18 WE #RR fh acfam wou & fRa &2
Ans X 1. dfeETg

o 2. Flch

X 3. e

X 4. anfeam

Question ID : 81616112542
Status : Not Answered
Chosen Option : --

=
Q.19 = & @ forg uRdg- @R dfAe Ft wradt 2021 F emRd siafker goidh Amam (NASA)' &
FrfaTgs uHa & wu § g fvar mar an?

Ans X 1. 2liaq ARE
X 2. TR TR
o 3. T A

X A, TR 3R

Question ID : 81616113059
Status : Answered
Chosen Option : 2
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Q.20 =1 & @ fhw Su-it 3 WRa o1 uget afore gahaH! Tiu §-uiéH gaha 3= e i gtvom &Y
8?7
Ans X 1.fS=r

X 2.
X 3.3
o 4. 9TgE

Question ID : 81616113058
Status : Answered
Chosen Option: 2

Q.21 GRIdT Geard g (Gfceen gw.Hl.) & g @ aren uRdla Sungigiu o1 ugar R[ars
frafef@ad g ar

Ans X 1.3« fRgen
7< 2. Qo =T
o 3. AilgHE Tel|
< 4. TEY AR ST

Question ID : 81616112551
Status : Not Answered
Chosen Option : --

Q.22 471 # @ foret et HaT wrg (alkaline earth metal) gt T 87
Ans X 1. @feAH (Platinum)

F 2. BIT™A (Magnesium)
25 3. dia1 (Copper)
7< 4. FETeE (Cobalt)

Question ID : 81616112537
Status : Answered
Chosen Option : 2

Q.23 ' fed: g Afg mf @R Y & A A d wa &2
Ans X 1.T9. g

2 2. o &4

X 3. ST =R

o 4.5 o

Question ID : 81616113052
Status : Not Answered
Chosen Option : --
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Q.24 QU srefema=n &t SrfeeeyT & TU & ST ST g, forad fAeht 85 ofk aReR 4t
nfae gia g1

Ans X 1.Ted (amalgam)
< 2. af@fda (blended)
< 3. gHiR (parallel)
o 4. fBf3a (mixed)

Question ID : 81616114250
Status : Answered
Chosen Option : 4

Q.25 "PR ______ IT Y G wileh- el &1
Ans X 1.f8R

X 2. grEs

X 3. P

o 4. oI

Question ID : 81616114248
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q1 zff tan@+3cotd—2v3=0%, 0°< 9 <90° & & (cosec? @ + cos? @) FH A AT Hi
_ 2
©<1=-

3

Ans

. 11
¥ 2.2

12

&3 —

) 1
xa 2
3

Question ID : 81616114290
Status : Answered
Chosen Option : 3

S

Q.2 If selling price of 75 articles is equal to cost price of 60 articles, then the approximate loss or gain percent is :

Ans

# 1. No profit no loss
X 2. Loss of 30%

« 3. Loss of 20%

X 4. Profit of 25%

Question ID : 81616113065
Status : Answered
Chosen Option : 3
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Q3 ¥ 7w 710,000 F sifha Hpa ae TFg B WIS T °T| GFEGR & THER F GT &4 §, 25%
F wha ge A 14% AR 12% F & FAE gel e F T BT @ g dga 7 A Haar swaw
i

Ans x 1. {H‘ﬁ', 568
« 2. IgeIr, 768

X3 gadr, 2100
X 4. Ogelr, 232

Question ID : 81616112558
Status : Answered
Chosen Option : 2

Q4 A v F F 11; Ra & 90 X TF §1 B, A ¥ 25% 30 guw § A C, B F goen
50% Forel g1 A, B 3R C w1y fieet 3@ 79 & Faw ew F @ w60

Ans x18 ﬁ,ﬂ'
2 4 f&d
X3 3 &7
X4 5 ﬁ?l'

Question ID : 81616114280
Status : Answered
Chosen Option : 2

Q5 337 arelr TEITsT abe, cab 3R bea @ AIwS . ¥ Fyswew A9 ¥
Ans X1 g +b+c

v 2 31

x3 37

X4 3

Question ID : 81616114272
Status : Answered
Chosen Option: 2

Q.6 v gz # ol # go TEEr 1400 ¥, SEd & 35% o wstEar § AR 99 asw ) ofy afis
TET # 80% T 3R 90% FIfHRAT T §E, A AT e I BT F e A F

Ans X 1.17.4
v 2 16.5
X3 15.8
xX4215

Question ID : 81616114276
Status : Answered
Chosen Option : 2
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Q.7 = ABC #, 857 AC 1 5T, 315 AB 1 515 F 2 T § 4 cm ¥% | 857 BC F waS, H=T
AB & #@TS & i T F 4 cm ®A §1 IE AABC & 9R#T 60 cm ¥, A FHE aFwe (cm? )
Eiciadl

Ans X 1150
<2100
« 3 120

X4 144

Question ID : 81616113076
Status : Answered
Chosen Option: 3

Q.8 23 HEwmat @ atEa 51 ¥ wEer 12 HEmmst # Ea 49 ¥ 3 #faw 12 gt o dtwg 54 & o
TS T W e fEmr S, &7 9w swmst # st (S & Sy TEr %) 7 #+4

Ans X 1. 52.65
X2 5175
X3 53.25
« 4 50.45

Question ID : 81616113062
Status : Answered
Chosen Option : 4

Q9 zfrs 9= aﬂmgw (third proportional) p &, @T 6, p, 4 FT ageﬁ:ﬂa (fourth- proportional) JTT
eyl

Ans 51 10
x 2. z‘ﬁ

xa2
2

-

v 418

Question ID : 81616112561
Status : Answered
Chosen Option : 4

Q.10 = Yoemel, vEAR T F 450 km # gfr a7 FAr 1 g WM & 9 5 kmvh HiOw g A
3H FAA gl 99 B H 1 UL FH GHI S| A WA Ao H T G LS G wHw
# 315 km & gF TT HLE?

Ans X 1.6 h 30 m
v27h
X37hB2m

X46h18 m

Question ID : 81616112564
Status : Answered
Chosen Option : 2
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cAlpEl 1.1 g1 afr . 11 ;
33+450f 55-3+2of 1+3(5+3x3) & e W HY
Ans x 1 _H

17

" 60

37

x 3..2%
60

Question ID : 81616113061
Status : Answered
Chosen Option : 4

_

@12 o x+1=7%, A2 +L T AS AT F

Ans X 1. 51
X2 49
3 47
X4 61

Question ID : 81616113071
Status : Answered
Chosen Option: 3

=

Q13 #fr o4+ b* 4+ o2b% = 273 AR+ —ap=213, & (C+2) = = 7= 7= w
Ans

. 3
<=
2

x2 -2

4

) 9

X3 =
8

a
o A
4

Question ID : 81616114285
Status : Answered
Chosen Option : 2
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Q.14 \ 7

1 1- AT
B a_ +c05eca Jt cos.eca,r T Hlel EF)-I

Ans X1 sin'e
v 21
X3 -1
X4 tan'er

Question ID : 81616112675
Status : Answered
Chosen Option : 2

Q.15 g7 Hifw & AABC ~ ARPQBﬂT::Ezjgg EHaPQ=4cm QR=6cm M PR=7cm ¥,
ar AC &1 &A1 (cm #) #1T #1

Ans X1.7.2
2 48
X3 6
X4 36

Question ID : 81616113077
Status : Answered
Chosen Option : 2

Q.16 Frr & 715 arformr, 2020 & R 7= & e el 9= & I FEE ear 9o 37 (2 /) AR

3% W Giat @ g 3
Wi g g | RfiA [aew
o
35,000 | 38,500 | 29,000 | 42,000
6,000 |6,300 |5,000 |7,500
EEE]
1,000 |1,100 |1,000 |1,240

1,800 |1,950 |1,400 |1,500

FIOT F IS F, IaA F HOTAT FHAN HT H HJAd A HL
Ans X1 653 : 128

<2128 : 653
3 B2b : 128
X 4128 : 525

Question ID : 81616112377
Status : Answered
Chosen Option : 3
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Q.17 AABC & off¥, O %z = ged W Touw #1 AO #t faffiw &t W 9F gea @ fg P = fawel &1 BC
W fig D 37 w&R § f5 AD L BC §1 =i 4B = 68° X +C = 52° §, & <DAP & AN 71T Hi

Ans o1 9go
X2 12°
¥ 3 16°
x4 18°

Question ID : 81616113074
Status : Answered
Chosen Option : 3

Q.18 ABCD = =wgeisr # sj=mait AB 3R DC &7 @gf W & E W e &, 3y simait AD 3 BC &
e W ¥ F oY e &1 o2 2ADE = 80° 3t £AED = 50° ¥, & <AFB & AT H1d &Yl

Ans X1 20°
X2 .40Q°
X3 5O°
v 4 30°

Question ID : 81616114287
Status : Answered
Chosen Option : 2

Q.19

AABC &, B WoaIoT &, afy cot A = 1§ gy SnAlcosCreos A o A &Y
2 cos C (sin C — sin &)

Ans 51 3

v2 -3

X3 2

x4 _2

QuestionID : 81616113686
Status : Not Answered
Chosen Option : --

Q.20 wr=r aifisr w7 # F@afea @9 W v Wvae i awgfe sorer ax 9% 29,500 Fr afvr 2 aw &
211,495 g JT 1 38 3= & 36 I W ERET SO X W, WURUT s (2 #) 79 #{

Ans 1. 3,990
X 2. 4,560
X 3. 3,420
v 3,800

Question ID : 81616114279
Status : Answered
Chosen Option : 4
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Q.21 wﬁaaﬁrﬁqﬁm,mﬁ?mrg'ﬁﬁﬁa:mm%,mm9ﬁcmz HEEk A s
Fr g (em F) 7T F

Ans 1. 2
X2 4
X33
74 6

Question ID : 81616113070
Status : Answered
Chosen Option : 4

Q.22 & 1% anfdreT & avwma &Y 3 ged 7 3 &

(2014 & 2018 @) W= =t &, Q, R, S 3 T &7 IX Tacmmert ¥ 71 wiem & suiiya (A) 3T
Scdior (P) ot B wEar

ferem] Q R 3 T

ot A P |A [P |A [P |A [P
2014 320 | 240 | 400 | 340 | 420 | 273 | 250 | 225
2015 400 | 320 | 380 | 285 | 350 | 280 | 300 | 228

2016 440 | 286 | 360 | 288 | 330 | 264 | 320 | 256
2017 350 | 252 | 420 | 294 | 380 | 247 | 350 | 315
2018 375 | 320 | 450 | 405 | 400 | 344 | 375 | 300

2015 & 2017 T Fag@mera R ¥ Scaior g @l ot @ aitaa dwar 3k 2015 # faggmem Q &
Sodiol Tt &Y TEAT @ @ HaT x §1 X # A & & g

A X135 3R 40
X2 25 3T 30
X3 20 3 25
4 30 AR 35

Question ID : 81616114294
Status : Not Answered
Chosen Option : --

Q2B gfr ox+3y+1=0% A (8x®+8+27y*—18xy) = AT AT Hil
Ans ¢ 1. il

27

X3 =9

X4 9

Question ID : 81616112567
Status : Answered
Chosen Option : 2
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Q.24 =y & =& Tfeem, 2016 ¥ 2020 T%F I oEL F FNC AT 9= F FEAT O F

Ty | 9Sg | egHeETE | 9O | Sledn
2016 1800 | 2500 1800 | 2000

2017 2500 2300 1850 1800
2018 2300 2400 1840 1760
2019 2440 1950 1900 1600
2020 2250 2100 2000 1750

2017 # =EeTe # 3 2020 F e F FOC v 93 fr F7 FEw e 22

Ans X 1. 4750
< 2. 4500
v 3 4250
X 4 3550

Question ID : 81616112375
Status : Answered
Chosen Option: 3

Q.25 & o arfoes = seaae w37 9eE = 5ea &)

(2014 & 2018 o) i It #, Q, R, S 3R T 3= =X ezt & o ofer & 9w (A) 3k
3T (P) o i FJE

foramera] @ R S T
a A [P A [P [A& [P [A [P
2014 320 | 240 | 400 | 340 | 420 | 273 | 250 | 225
2015 400 | 320 | 380 | 285 | 350 | 280 | 300 | 228
2016 340 | 286 | 360 | 288 | 330 | 264 | 320 | 256
2017 350 | 252 | 420 | 294 | 380 | 247 | 350 | 315
2018 375 | 320 | 450 | 405 | 400 | 344 | 375 | 300

2014 3K 2017 # RE@ag S & 50T g A0 OEl 1 §o #edr, 2015, 2016 v 2017 # Regem

T & suidud o $1 FA HE & 90% F e wfoee 32 (@ueed F U TS 9% FE)
Ans X 1.53.9

<2548

3 B59.6

<4 57.4

Question ID : 81616114296
Status : Not Answered
Chosen Option : --

Section : English Comprehension
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Q.1 Select the option that will improve the underlined part of the given sentence. In case no

Ans

improvement is needed select ‘No improvement required'.

A need of an hour is to provide employment to the youth of the country.

#< 1. The need in an
25 2. The need of an
¥ 3. The need of the

< 4. No improvement required

Question ID : 81616113090
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate synonym of the given word.

Ans

Integrate

" 1. Assimilate
25 2. Disburse
#< 3. Distribute
< 4. Separate

Question ID : 81616113099
Status : Not Answered
Chosen Option : --

Q.3 Select the INCORRECTLY spelt word.

Ans

< 1. Ascetic
< 2. Boasting
" 3. Overide
#< 4. Evidence

Question ID : 81616113107
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate synonym of the given word.

Ans

Leverage
< 1. Suggestion

25 2. Weakness
2 3. Conclusion
" 4. Influence

Question ID : 81616113100
Status : Not Answered
Chosen Option : --
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Q.5 Select the most appropriate option to fill in the blank.

His ______ of the topic was so good that students had few doubts at the end of the class.
Ans o 1. exposition

#< 2. picturisation

< 3. exhibition

< 4. qualification

Question ID: 81616113110
Status : Answered
Chosen Option : 2

Q.6 Select the INCORRECTLY spelt word.
Ans 1. Licenced

5 2. Aesthetic
25 3. Haphazard
< 4. Chandelier

Question ID : 81616113108
Status : Answered
Chosen Option : 3

_——

Q.7 Select the option that expresses the given sentence in passive voice.

Richard wore a broad belt with shiny buckles.
Ans X 1. A broad belt with shiny buckles had been worn by Richard.

#5 2. A broad belt with shiny buckles was wear by Richard.
25 3. A broad belt with shiny buckles wore Richard.
" 4. A broad belt with shiny buckles was worn by/Richard.

Question ID : 81616114299
Status : Answered
Chosen Option : 4

=

Q.8 Select the most appropriate option to fill in the blank.

The lack of regular academic sessions has meant that in 2020 the country has had the
share of students who have attended educational institutions.

Ans X 1.lower
25 2. low
" 3. lowest

& 4. last

Question ID : 81616114321
Status : Answered
Chosen Option : 2
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Q.9 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

The food / in the new eatery / is much best than / the one in RK Puram.
Ans  # 1.is much best than
#5 2.inthe new eatery
#5 3. the one in RK Puram
< 4. The food

Question ID : 81616112580
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate ANTONYM of the given word.

Infirm
Ans X 1.Feeble

< 2. Frail
«" 3. Strong

25 4. Weak

Question ID : 81616113101
Status : Answered
Chosen Option: 3

Q.11 Select the most appropriate meaning of the given idiom.

Feel at sea
Ans X 1.Feel angry

75 2. Feel comfortable while travelling by water
75 3. Feel seasick

" 4. Feel lost or confused

Question ID : 81616112598
Status : Answered
Chosen Option : 2

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. Itis also a rich source of news updates around the world.
B. Older people and children remain glued to it.

C. It has become a great source of entertainment for all.

D. TV has become a powerful medium these days.

Ans X 1.ABCD
& 2. DBCA
< 3.BDCA
< 4. ACBD

Question ID : 81616113097
Status : Answered
Chosen Option : 4
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Q.13 Select the option that can be used as a one-word substitute for the given group of words.

Ans

A corporation made up of a number of different companies that operate in diversified fields
25 1. Agreement

< 2. Association
5 3. Correlation

" 4. Conglomerate

QuestionID: 81616114318
Status : Answered

Chosen Option : 2
Q.14 Select the option that expresses the given sentence in reported speech.
"l live in Mumbai,' she said.
Ans X 1. She said that she had been living in Mumbai.
" 2. She said that she lived in Mumbai.
< 3. She says that she was living in Mumbai.
#< 4. She said that she has been living in Mumbai.
Question ID : 81616113088
Status : Answered
Chosen Option : 2
Q.15 Select the option that will substitute the underlined part of the given sentence. In case no
substitution is needed, select ‘No substitution required’.
Japan has made important and original contributions inside some fields like photography
and electronics.
Ans X 1. for some field like
" 2.in some fields like
< 3. No substitution required
< 4. on some field like
Question ID : 81616114301
Status : Answered
Chosen Option : 2
Q.16 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.
A. “Buy sweet apples, or none at all”, he instructed his servant.
B. A rich man sent his servant to an orchard to buy some apples.
C. The servant asked, “How am I to know that all of them are sweet if | taste just one?”
D. The owner of the orchard said to the servant, “All my apples are sweet. Try one.”
Ans X 1.BDAC
5 2. ABCD
«" 3.BADC
< 4. ACBD
Question ID : 81616112593
Status : Answered
Chosen Option: 1
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Q.17 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

The Committee agreed / that small businesses / has been adversely affected / by COVID-
19.

Ans & 1.has been adversely affected
< 2. The Committee agreed
2 3.by COVID-19

#< 4. that small businesses

Question ID : 81616114298
Status : Answered
Chosen Option: 1

Q.18 Select the most appropriate ANTONYM of the given word.
Sprightly
Ans X 1. Lively
" 2. Lethargic
2 3. Active
< 4. Energetic

Question ID : 81616112597
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate meaning of the given idiom.

The gift of the gab
Ans X 1. Loves to give gifts
" 2. Talks well and persuasively
25 3. Writes very well
< 4. Used to grabbing others' gifts

Question ID : 81616112599
Status : Answered
Chosen Option : 2

Q.20 Select the option that can be used as a one-word substitute for the given group of words.

A short rest or sleep taken after lunch
Ans X 1.Doze
25 2. Leisure
2 3. Slumber
" 4. Siesta

Question ID : 81616114317
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
(1) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no.1.
Ans X 1.nominal
< 2. factual
«# 3. potential
2 4. impossible
Question ID : 81616113092
Status : Answered
Chosen Option: 2
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the helpof the
alternatives given. Select the most appropriate option for each blank.
Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
@) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1.identify
25 2. differ
2 3. disagree
" 4. resemble
Question ID : 81616113093
Status : Answered
Chosen Option : 3
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Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
(1) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 23
Select the most appropriate option to fill in blank no.3.
«" 1. more

25 2. most

< 3. many
25 4. much

Question ID : 81616113094
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
(1) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no.4.

Ans

< 1. broken
< 2. stable
< 3.incomplete

«" 4. constant

Question ID : 81616113095

Status : Answered

Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
@) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans

< 1. direct
< 2. seize
25 3. guide
" 4. lead

Question ID : 81616113096
Status : Answered
Chosen Option: 3
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